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wpppllk [ F ] kkbbokkk

No. 2 3 5 9 12 & H=E

E F A CSR CSR GSR CSR CSR NE sz
3 #5AK H&HA skokk kkk kkk kkk kkk 15 1 P
6 ik JE— sokk kokk kekk skkk kkk 15 1 P
8 HER B sk kokk kkk kkk kkk 15 1 P
10 L HE fokk ckokk kkk kkok kkk 15 1 P
11 I BX xkk Kk Rk kkk kkk 15 1 P
16 hnEE  # sokk kokk kokk kkk kkk 15 1 P
21 Eaft = dokok sfokk kkk dokk dkk 15 1 P
28 luO HH sokk kokk kkk kkk kkk 15 1 P
32 INEREF EHIK kdkok dokk okkk dokk kkk 15 1 P
35 R #= skok dokok okk kkk kkk 15 1 P
39 BN MBE dolok skokk kkok dokk dkk 15 1 P
43 KE XE fokk ckokk kkk kdok kkk 15 1 P
HeIsg = 15
ookl [ ZERME ] bkl
No. 2 3 5 9 12 &t HE
B F A CSR GSR GSR GSR CSR 31
3 #nA  HEEd ook 3.9
6 Mgk JIE— ¥ 2 10
8 HER B sokk kkk ok * 8 6P
10 W H=x * % *k  kokk 7 1
11 I BX %k kkk kkk ok kkk 12 3P
16 hNEE B *k  kk okkk kkk kk 12 3 P
21 Bkt JAZ Bk dolk kkk ok kkk 14 1 P
28 Lo HR * % KKK 5 8
32 INFFF  EFNK ¥ 2 10
35 #MmE HBZ= * * 2 10
39 AN ME xk k k k k xx%x 9 5P
43 KiE XNE dokk kkk kkk  kk kkk 14 1 P
HEIA% = 8
sppklok [ R B ] bokokkkkk

No. 2 F K % 2 3 5 912 B
i H Cha cha
B

8 7Ep 5 5 5 6 6 6 6.0
N Ik BX 4 1 3 4 3 4.0
16 ik B& 2 2 4 2 2 20
21 Baft R 141 1 1 1.0
39 FEif HE 6 6 5 5 5 5.0
43 KiE XE 3 3 2 3 4 3.0
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T Gk >
8 &R #iF 4 6 6 5 6 6.0
1M1 I 8x 312 2 2 20
16 fnEk B 2 3 3 4 3 3.0
21 Eaft  J{= 14 1 1 1 1.0
39 AR MBE 5 5 5 6 5 50
43 KE XE 6 2 4 3 4 4.0
8 H Rumba
8 &R #iFH 6 5 6 6 5 6.0
1M1 I 8x 4 1 4 4 4 4.0
16 Jnpk B 12 2 2 1 1.0
21 Eaft  J{= 2 411 3 20
39 AR MBE 5 6 3 5 6 50
43 KE XE 3 3 53 2 3.0
No. ¥ F K 4 C S R &it #E
8 &R #iF 6.06.06.018.0 6.0
11 I #Fx 402040100 4.0
16 Jnpk B 2.03.01.0 6.0 2.0
21 Eaft  J{= 1.01.02.0 40 1.0
39 AR MBE 5.05.05.015.0 5.0
43 KE XE 3.04.03.010.0 3.0
2 BEEEZ
3 HARES
5 —FtigHh
9 EH—F
12 SHEF
soprorkk [ ERIRHEEER ] skekkkkk
EEE EBRBEE M E F K £ IN— k-4
3 13001420 C #iK HEER BE #+F
6 13002846 C Nk IE— *H T=E
8 13003684 C #E #HHA XiEF BF
10 13003564 C LF H= A ¥
11 13003210 C I #EXx ki ET
16 13001015 C Mg f% gk fF
17 13001384 C FEH A EH HBEEF
2 1 13000822 D Eatt HE{= =45 BIF
28 13000634 Cc uA B [L#  IMNERF
32 13003795 C /NEFF ZEHK FK EF
35 13002897 C #[® &= FE BGF
39 13003733 C @EF BEE mr BF
4 3 13000667 C X2 XE AR Ax
45 13003649 C Exk #BE BExk IBF
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